Name Group Variant
Anb3y61 Moxaman A6ayn Xakim KH-219dia.e new |1
Barxani Uintankymap KH-219dia.e 2
Cambxy0Oxai

Barxacis Xapm Amok0xaii KH-219dia.e 3
["aniro Jlaminape Jlagino KH-219dia.e 4
[Taix Acan J[>xaminb KH-219dia.e 5
[enro3ny Emip KH-219dia.e new | 6
Kyapmiie A6ayn-Pazak Axmen KH-419di.e 7
Moxamen Amp Abmoanxaip 3arnyn | KH-419di.e new |8
Maxmy

Opnynran TonyBani OmyBaTo061 KH-419di.e 9
daxmi Banin KH-419di.e 10

Dear students. Please, do your individual task during the quarantine. After that

send photos or scans to my viber (0501418012) or e-mail adress

avchystilina@gmail.com

Task 1. Calculate determinant

1 4 31 2 i1 1 1
3 4 3 2 12 3 4
B2 1 4 1 3 6 10
2 4 2 3 1 4 10 20
2 1 3 5 7 201 2 3 4
35 7 1 2 3 4 1
5 7 1 3 3 4 1 2
713 5 41 2 3
3 2 -3 1 4 Bin1 1 1
31 2 4 1 2 3 4
1 2 3 4" N 4 9 16/
3 2 4 2 1 8 27 64
4 2 4 3 5 “d401r 2 3 4
3 -2 5 4 -2 1 -4 3
5 4 2 -3 3 -4 -1 2y
4 3 4 =2 4 3 -2 -1
o 1 2 3 4 15015 1 2 4
0 1 2 3 4 6 3 7
-1 0 1 2/ 31 2 4
~2 -1 0 1 2 3 4 5
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Task 2. Calculate
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16 5 3 -1 1 4 16
2(A- B)A, A=(2 0 4| B=|-3 =2 0]
35 -1 5 7 2
17 T 4 2 I 6 2
2A4(A + B), A=2 1 =2 3[4 10 1|
01 -1 2 4 -5
18 4 2 1 2 0 2
3(A- B)B, A=3 =2 0], B[S -7 21
0 -1 2 1 0 -1
19 1 0 3 7 5 2
(2A- B)A, A=[-2 0 1| B[O 1 2|
-1 3 1 -3 -1 -1
20 7 -3 0 -4 21
B(A +2B), A=[1 -1 0 B=|1 01
2 0 3 3 21

Task 3. Find solution of given systtm of linear equations using Cramer’s rule and

inverse matrix.

1 X +Xy —2x;=06, 11 X —2x, +3x3 =6,
2x) +3x, = Tx5 =16, 2x) +3x, —4x5 =16,
5x; +2x, +x5 =16. 3x; = 2xy = 5x; =12.

2| (2x —xy +3x; =7, 1201 (o5 4 x, + 43, =20,
X; +3x, = 2x3 =0, 2x) =Xy —3x3 =3,

2x, —x3 =0. 3x;+4x, =5x3 =-8.

3 X +5xy —x3 =7, 13 X +5x, — x5 =4,
2x) =%y —x3 =4, 2X; — Xy — X3 =4,
3x; = 2x, +4x5=11. 3x; = 2xy +4x53=-12.

4 14

7x1 + 2.X2 +3.X3 = 15,
le _3.X2 +2.X3 :15,

7x1 + S.X2 + 2.X3 = 18,
.xl _.X2 - .X3 = 3,




S 5x;+8xy —xy=—1, 15 Xp+2x) +x3 =4
X;+2xy +3x3 =9, 3xy +5xy = Txs =1,
2x; = 3x, +2x; =13, 2% +7Txy —x3 =8

O | [3x +2x; +x; =5, 16|y 42, +4x, =31,
2x) 435, +x3 =1, 5x; +xy +2x5 =29,

9 19

3.xl_.X2 +.X3:4, .xl+.X2 +.X3:2,
2)61 - S.X2 _3.X3 = _17, 2)61 - .X2 - 6.X3 = —1,
X +Xy +x3=06, X — Xy —X3 =3,

Task 4. Solve the following linear equations by Gaussian method

1 Xp +2xy — x5 + x4 =1, X + 3xy, +5x3 —2x, =0,
2) 3x)+ Xy +2x3— x4 =2, 5) 2%+ Txy +3x3+ x4 =0,
2x; +3xy — x3 +3x, =0, X + 5xy, +9x3 +8x, =0,
Ax; +2xy +2x3+ x4 =1 5x; +18xy —4x53 +5x, =0.
2 X +2x3 = x4 = 0, X+ 2%y — X3+ 2x, — x5 =0,
3x; + X, +6x3 —3x, = 3, 5x; +11x, —2x3 +8x4 +2x5 =0,
) 6)
Ax;) — Xy + 8x3 —4x, =-3, 4x; +10x, +2x;3 +10x, —3x5 =0,
2X, + Xy +4xy —2x, = 3. 5x; +13x, +4x5 +16x, —10x5 =0.




2x1+ .x2 - .X3 _4.X4:_4,

X1 + Xy

2x1—x2+4X3 _3.X4+4.XS:O,
2x, =3 3x, =0
2.xl_.X2 +.X3_2.X4:O,
a)sx; —2xy +3x3 —xy +2x5=2, 0)
3.xl_.X2 +5.X3_3.X4_.XS:10.
_.xl+3.X2_.X3 +2.X4:O
.xl+7.X2_4.X3 +8.X4_5.XS:5, 2.xl_.X2 +5.X3_.X4 :O,
0 9x, —3x, +5x, +6x, =4, 2x) + 3%, = 3x3 +2x, =0,
3 2x, — 3x, =0
a)16x, — 2x, +3x, +4x, =5, Gy 1T T A T =,
3x,—x, +3x;, +14x, =-8. X =Xy +2x3+x4 =0.
) .xl _3.X2_3.X3 +4.X4:_1, 6) _.xl+2.X2+3.X3 +2.X4:O,
. a
2.xl_.X2 _6.X3+3.X4:_2 3.xl_.X2 +2.X3+ .X4 :O
8
2X) +xy —x3 = 3%y =2, 3, + X, —2x3+ x; =0,
M oy, 23 - 91> — 3x; + 3x, = 0
_xz _x3 —|—_X4_L .xl + .x2 .X3 + .X4 = VU,
2x; +3x, —4x; —2x, =3. X+ 2x =3+ x4 =0
9 3x) = 2xy = 3x3 +3x, =4, X; +5x, +3x3 +2x, =0,
a) xl+2x2_2X3_2X4:4, 6) .xl+.X2 +2.X3 +3.X4:O,
2x;+xy —4x; —x, =2. X; +5xy +5x3 +2x, =0.
10 X +Xx —3x4—x5 =0,
2x =3x, +4x;—x, =1, b2 v
Xy =Xy +2X5—Xy =0,
A) X+ Xy + X5 =0 0)

5x;=2x, +x3—x, =0,

4x, =2x, +6x5+3x, —4x5=0;

2xl+4X2_2X3 +4.X4 _7.XS :O




11 3x; — Xy —5x3+5x,= 1, 3x; +4xy —5x3+7xy =0,
a) 2.X1+ .Xz _5X3 :—1’ 6) 2.xl_3.X2 +3.X3_2.X4:O,
X+ Xy =3x3 - xy =-1 Txy —2xy + X3 +3x, =0,
12 2x,+ x5 + x5 +3x,= 3, X+ 3xy +2x3+ Tx, =0,
a) X +2xy — x5 +2x,=-3, ) 2x, = xp +3x3— 2x, =0,
.xl +3x2 - .X4 = O, —3)61 - 5.x2 +4.X3 +16.X4 :O,
13 X +2xy = 3% —6xy = 4, 5x;+ Xy +4x3 +2x, =0,
a) -xl _4-X2 _3x3 = _8, 6) 3.xl+2.X2 _.X3 +3.X4 :O,
.xl —2)62—3)63—2)64:—4, 2.xl_.X2+5.X3_.X4:O)
2%, — 5x, — 6x3 — 3x, = —10. =X +2xy = 3x3 +2x, =0.
14 2%+ X, — Xy =7, X = 22Xy +x3+ X, = X5 =0;
2)62 +.X3 - 2.X4 = 2, .xl +7.x2 —S.X3 _S.X4 +5.XS :O,
3% —x3— Xy =9. 3x =Xy = 2x3+ x4 — x5 =0.
15 2x,— X, + X, —5x,= 2,
X —4x, +3x, +x, +2x, =0,
X, +2x, = 5x; — 2x, =-10,
a) 0)13x, —2x, —x; +5x, —x;, =0,
3x, = 5x, +x, = 0,
2x, +2x, —4x; +4x, —3x,=0.
X, + x, —3x;,—2x,= —6.
16
2)61 - .x2 - 2.X4 = 4, 2)61 —3)62 +4.X3 _3.X4 = O,
a) X+ Xy =3x3— x4 =2, ) 3x;—x, +11x3-13x, =0,
3x; +x, —5x3 —3x, =6, Ax; +5x, —7x3-2x4 =0,
17 _xl + xz + _x3 _5x4: O) le+6x2_2X3+7.X4+4.xS:O,
3x —4xy— x; =—4 2x)+3x, —x3 +4x, +2x5 =0,
a) ’ 0)
Xp o+ 20 =205+ Xy =—4 5x,+9x, —=3x3+x, +6x5 =0.
18 2x,+3x, — 5x,=0
a)q6x; —2x, +3x5 +4x, =5, 0) Ax 41— 3re 4 6. =0
3x, — X, +3x; +14x, =-8. Pr e
19 _

.xl+2.X2 +3.X3 +.X4 :O




20

a)<x; +2xy —x3+x, +2x5=0,
.xl_2X2 +3.X3 +2.X4 +.XS :3

6)

2x; —4x, —6x;+ x4 =0;
Ax; = 3xy +2x3 = 7x, =0;
—X) +2x, +3x3 =0;

_xl+2.X2 +3.X3 + .X4 :O




